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6

The Sine Rule

Work out the length of side x.  1

[3 marks]

x = 

Not drawn 

accurately

cm

24°

x
11 cm

75°

Work out the length of side x.  2

x = 

Not drawn 

accurately

cm

81°

x

6 cm

51°

[3 marks]
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Work out the size of angle x.  3

x = 

Not drawn 

accurately

° 

77°x

14 cm
20 cm

[3 marks]

Work out the size of angle x.  4

x = 

Not drawn 

accurately

° 

92°

x50 cm

38 cm
[3 marks]
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Turn over ►

12

Solutions

Work out the length of side x.  5

[3 marks]

x = 

Not drawn 

accurately

cm

19°
x

22 cm

129°

Work out the size of angle x.  6

x = 

Not drawn 

accurately

° 

85° x

13 cm12 cm

[3 marks]
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Work out the length of side x. 

Give your answer in the form k 6 , where k is an integer.

8

[4 marks]

x = 

Not drawn 

accurately

cm

45°

x 9 cm

60°

Given that angle x is obtuse, work out its size.  7

x = 

Not drawn 

accurately

° 

44°

x

14 cm

18 cm

[3 marks]
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Turn over ►

12

Solutions

73°

14 cm 12 cmA

B

C

D

Not drawn 

accurately

ABC and BCD are triangles.

The area of triangle ABC is 154 cm2

Work out the size of angle ABD. 

9

[5 marks]

Answer
° 
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ABCDE is a regular pentagon

AEF and CDG are triangles.

FEDG is a straight line.

Work out the size of angle x.

6
@1stclassmaths

© 1stclassmathswww.1stclassmaths.com Solutions

8 m

62°

20 m

Not drawn 

accurately

x

A

B

C

DEF G

10

[6 marks]

Answer
° 
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11

Solutions

A

B

C
D

15 cm

32°

9 cm

ABC is a triangle.

ABD is a sector with centre A.

Work out the area of sector ABD.

11

Not drawn 

accurately

[5 marks]

Answer cm2
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